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8. The graph is of a semicircle of radius 6 lying on the x-axis. =M area of semicircle ππ 18)6(
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9. Let DCx .  Substituting the information from the problem into )(xf , )(xfBxAxxf +++= 23)( ′ , 
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12. The first and fourth statements are true and the fifth statement is false from direct substitution.  The third 

is true because 0)18 , 
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14. Each of the limits is simply the definition of derivative. 
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15. Use integration by parts twice, first with xeu 4=  and xdxdv 5cos= , then with xeu 4=  and 

xdx .  This gives dv 5sin= ⎟
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